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Individual random effects versus covariate
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Covariate: WTO (Bodyweight)
Individual random effects versus covariate
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Covariate: HTO (Height)

Individual random effects versus covariate

ETA_ kabs
corr: 0.0501 (p = 0.65)

- | | |
160 170 180
ETA Q1
corr: 0.0997 (p = 0.37)
]
| | |
160 170 180

0.5

0.0

-0.5

-1.0

0.4

0.0

-0.4

-0.8

ETA CL
corr: 0.0811 (p = 0.46)

160 170 180

ETA Vpl
corr: —0.148 (p = 0.18)

_\

160 170 180

|corr|>0.3 == no

0.8

0.4

0.0

ETA Vc
corr: 0.0545 (p = 0.62)

170 180




Covariate: SEX (Gender)

Individual random effects versus covariate

p—Value from t-test, p<0.05 suggests that means are different
1 (male): N=64

2 (female): N=20
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